

Some New Characterizations of Spacelike Curves According to Type-2 Bishop Frame in Euclidean 4-Space E_1^4

Fathi Mohamed Daw-Albait Elzaki¹, Abdoalrahman SalihAbdoalrahman Omer²

¹Mathematics Department, College of Science and Technology, Omdurman Islamic University, SUDAN & Mathematics Department, College of Sciences and Arts, Ranyah Branch, Taif University, KSA

²Mathematics Department, College of Education, Elfasher University, SUDAN & Mathematics Department, College of Sciences and Humanities, Ghat Branch, Majmaah University, KSA

Abstract: In this study, some characterizations of the Space Curves in Euclidean 4- Space E_1^4 with constant curvatures spanned by subspaces of E_1^4 according to type-2 Bishop Frame were given after we investigated the position vectors of space curve with constant curvatures

Keywords: Euclidean Space E_1^4 ; Second type Bishop Frame; Space Curves

1. Introduction

The characterizations of space curves with respect to Frenet and Bishop Frames have been studied by many authors. In [7] M. A. Akgun, A. I. Sivridag were give some characterizations for spacelike curves by studied the positionvectors of a spacelike curve on some subspaces in Minkowski 4-space R_1^4

In [5] The author gave us the sufficient conditions of null curves to be osculating curves in terms of their curvature functions by obtaining some relations between null rectifying curves in E_1^4 and null osculating curves with some example of null osculating after maked relations between null normal curves and null osculating curves. In [2] Fathi studied the position vectors of space curves in Euclidean 3-Space depending on the Type-1 Bishop Frame with constant Curvatures. In [8] According to type-2 Bishop frame the authors gave us some characterizations of spacelike curve with principal normal vector, in addition to that position vector of spacelike curves on Lorentzian sphere with respect to the type-2 Bishop curvatures was obtained and also they established some relations among Frenet apparatus. In [6] the authors were discussome parametrizations of rectifying curves after they gave thecharacterize of non-null and null rectifying curves which is lying fully in the Minkowski3-space E_1^3 . The general helix position vector with respect to Frenet frame in Euclidean 3-Space studied by A. T. Ali in [1] and in addition to that the natural representation of a general helix in terms of the curvature and torsion was deduced. In [4] the authors were study and characterize the rectifying curves in E^4 after they defined it in the Euclidean 4-space as position vector always lies in orthogonal complement. In [3] the author used Laplacian operator and Levi-Civita connection to obtained some characterizations of timelike curves in mMinkowski 3-space E_1^3 according to Bishop frame and also some characterization of timelike curves was studied according to the Bishop Darboux vector and the normal Bishop Darboux vector by gave it is general differential equations . In [9]

some characterizations of closed dual curves of constant breadth were presented in dual Euclidean space and discussed by the author according to Bishop Frame in addition to that third order vectorial differential equation has been obtained in dual Euclidean 3-space.

2. Preliminaries

In this paper E_1^4 denote to the Minkowski 4-space together with a metric \langle , \rangle of sign nature $(-, +, +, +)$.

For each

$$X = (a_1, a_2, a_3, a_4) \in E_1^4, Y = (b_1, b_2, b_3, b_4) \in E_1^4$$

The standard scalar product in the Euclidean 4- space E_1^4 given by:

$$\langle X, Y \rangle = a_1b_1 + a_2b_2 + a_3b_3 - a_4b_4 \quad (2.1)$$

Since a vector X is said to be Timelike if $\langle X, X \rangle < 0$,

Spacelike if $\langle X, X \rangle > 0$ and null(Lightlike) if

$$\langle X, X \rangle = 0 \text{ and } X \neq 0 . \text{ Where } \|X\| = \sqrt{|\langle X, X \rangle|}$$

denoted to the norm of a vector X

If we take an arbitrary curve $\alpha : I \subset R \rightarrow E_1^4$ in E_1^4 .

Recall that the curve α is said to be of unit speed (or parameterized by arc length function s) if $\langle \alpha'(s), \alpha'(s) \rangle = 1$

Let $\{T, N_1, N_2, B\}$ Denoted the type-2 Bishop moving frame along the unit Speed curve α . Where the vectors T, N_1, N_2 and B are mutually orthogonal vectors satisfying $\langle T, T \rangle = \langle N_1, N_1 \rangle = \langle N_2, N_2 \rangle = 1, \langle B, B \rangle = -1$.

Then the type-2 Bishop formula [3] . And satisfying α are:

$$\begin{pmatrix} T \\ N_1 \\ N_2 \\ B \end{pmatrix}' = \begin{pmatrix} 0 & 0 & 0 & -k_1 \\ 0 & 0 & 0 & -k_2 \\ 0 & 0 & 0 & -k_3 \\ k_1 & k_2 & k_3 & 0 \end{pmatrix} \begin{pmatrix} T \\ N_1 \\ N_2 \\ B \end{pmatrix} \quad (2.2)$$

Where k_1, k_2 and k_3 are the first, second and third Bishop curvature.

3. Some NEW Characterizations of a Spacelike Curves with constant Curvatures According to Type-2 Bishop Frame in Euclidean 4-Space E_1^4

In this section we will give some investigation to characterize the Spacelike curves that lie on some subspaces of E_1^4 . Let α be a Spacelike curve in E_1^4 with the type-2 Bishop frame $\{T, N_1, N_2, B\}$.

Case 1: Firstly we suppose that the Spacelike curve α lies on the subspace spanned by $\{T, N_1\}$. So we can write the position vector as:

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_1(s) \quad (3.1)$$

Where $\lambda = \lambda(s)$ and $\mu = \mu(s)$. The equation (3.1) after differentiation with respect to s became:

$$\alpha' = \lambda'T + \lambda T' + \mu'N_1 + \mu N_1' \quad (3.2)$$

From the equations (2.2), we get the following:

$$\left. \begin{aligned} \lambda' &= 1 \\ \mu' &= 0 \\ \lambda k_1 + \mu k_2 &= 0 \end{aligned} \right\} \quad (3.3)$$

So by solving these equations if $k_1 = k_2 = 0$ we find:
 $\mu(s) = c$ and $\lambda = s + c_1$,

$$\alpha(s) = [s + c_1]T(s) + cN_1(s) \quad (3.4)$$

Theorem 3.1: The Spacelike curve $\alpha \subset E_1^4$ lies on the subspace spanned by $\{T, N_1\}$ if and only if it is in the form

$$\alpha(s) = [s + c_1]T(s) + cN_1(s) \quad (3.4)'$$

Case 2: Secondly suppose that the Spacelike curve α lies on the subspace spanned by $\{T, N_2\}$. So the position vector can be written as:

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_2(s) \quad (3.5)$$

Where $\lambda = \lambda(s)$ and $\mu = \mu(s)$. The equation (3.5) after differentiation with respect to s became:

$$\alpha' = \lambda'T + \lambda T' + \mu'N_2 + \mu N_2' \quad (3.6)$$

From the equations (2.2), we get the following:

$$\left. \begin{aligned} \lambda' &= 1 \\ \mu' &= 0 \\ \lambda k_1 + \mu k_3 &= 0 \end{aligned} \right\} \quad (3.7)$$

The solution of these equations lead to:
 $\mu(s) = c$ and $\lambda = s + c_1$, if $k_1 = k_3 = 0$

So we find

$$\alpha(s) = (s + c_1)T(s) + cN_1(s) \quad (3.8)$$

Theorem 3.2: The Spacelike curve $\alpha \subset E_1^4$ lies on the subspace spanned by $\{T, N_2\}$ if and only if it is in the form

$$\alpha(s) = (s + c_1)T(s) + cN_1(s) \quad (3.8)'$$

Case 3: Thirdly suppose that the Spacelike curve α lies on the subspace spanned by $\{T, B\}$. So we can define the position vector as:

$$\alpha(s) = \lambda(s)T(s) + \mu(s)B(s) \quad (3.9)$$

Where $\lambda = \lambda(s)$ and $\mu = \mu(s)$. The equation (3.9) after differentiation with respect to s became:

$$\alpha' = \lambda'T + \lambda T' + \mu'B(s) + \mu B(s)' \quad (3.10)$$

From the equations (2.2), we get the following:

$$\left. \begin{aligned} \lambda' + k_1\mu &= 1 \\ k_2\mu &= 0 \\ k_3\mu &= 0 \\ \mu' - \lambda k_1 &= 0 \end{aligned} \right\} \quad (3.11)$$

If: $k_2 = k_3 = 0$, these equations lead to

$$\lambda = c_1 \cos[k_1 s] - c_2 \sin[k_1 s] \quad (3.12)$$

$$\mu = c_2 \cos[k_1 s] + \frac{\cos[k_1 s]^2}{k_1} + c_1 \sin[k_1 s] + \frac{\sin[k_1 s]^2}{k_1} \quad (3.13)$$

So

$$\alpha(s) = [c_1 \cos[k_1 s] - c_2 \sin[k_1 s]]T(s) + \left[c_2 \cos[k_1 s] + \frac{\cos[k_1 s]^2}{k_1} + c_1 \sin[k_1 s] + \frac{\sin[k_1 s]^2}{k_1} \right]B(s) \quad (3.14)$$

Theorem 3.3: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{T, B\}$ if and only if it is in the form

$$\alpha(s) = [c_1 \cos[k_1 s] - c_2 \sin[k_1 s]]T(s) + \left[c_2 \cos[k_1 s] + \frac{\cos[k_1 s]^2}{k_1} + c_1 \sin[k_1 s] + \frac{\sin[k_1 s]^2}{k_1} \right]B(s) \quad (3.14)'$$

Case 4: In this case suppose that the Spacelike curve α lies on the subspace spanned by $\{N_1, N_2\}$. So we can define the position vector as:

$$\alpha(s) = \lambda(s)N_1(s) + \mu(s)N_2(s) \quad (3.15)$$

Where $\lambda = \lambda(s)$ and $\mu = \mu(s)$. The equation (3.15) after differentiation with respect to s became:

$$\alpha' = \lambda'N_1 + \lambda N_1' + \mu'N_2 + \mu N_2' \quad (3.16)$$

From the equations (2.2) we find that:

$$\left. \begin{aligned} \lambda' &= 1 \\ \mu' &= 0 \\ \lambda k_2 + \mu k_3 &= 0 \end{aligned} \right\} \quad (3.17)$$

If: $k_2 = k_3 = 0$ these equations lead to
 $\mu(s) = s + c$ and $\lambda = s + c_1$

Then:

$$\alpha(s) = [s + c_1]N_1(s) + [s + c]N_2(s) \quad (3.18)$$

Theorem 3.4: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{N_1, N_2\}$ if and only if it is in the form

$$\alpha(s) = [s + c_1]N_1(s) + [s + c]N_2(s) \quad (3.18)'$$

Case 5: In this case we suppose that the Spacelike curve α lies on the subspace spanned by $\{N_1, B\}$. So we can defined the position vector as:

$$\alpha(s) = \lambda(s)N_1(s) + \mu(s)B \quad (3.19)$$

Where $\lambda = \lambda(s)$ and $\mu = \mu(s)$. The equation (3.19) after differentiation with respect to s became:

$$\alpha' = \lambda'N_1 + \lambda N_1' + \mu'B + \mu B' \quad (3.20)$$

From the equations (2.2) we get the following:

$$\left. \begin{aligned} \lambda' + k_2\mu &= 0 \\ k_1\mu &= 1 \\ k_3\mu &= 0 \\ \mu' - \lambda k_2 &= 0 \end{aligned} \right\} \quad (3.21)$$

So by solving these equations if $k_2 = k_3 = 0$ we find that:

$$\mu(s) = \frac{1}{k_1}, \quad \lambda(s) = \frac{k_2}{k_1}s + c$$

Then

$$\alpha(s) = \left[\frac{k_2}{k_1}s + c\right]N_1(s) + \left[\frac{1}{k_1}\right]B \quad (3.22)$$

Theorem 3.5: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{N_1, B\}$ if and only if it is in the form

$$\alpha(s) = \left[\frac{k_2}{k_1}s + c\right]N_1(s) + \left[\frac{1}{k_1}\right]B \quad (3.22)'$$

Case 6: In this case we suppose that the Spacelike curve α lies on the subspace spanned by $\{N_2, B\}$. So we can defined the position vector as:

$$\alpha(s) = \lambda(s)N_2(s) + \mu(s)B \quad (3.23)$$

Where $\lambda = \lambda(s)$ and $\mu = \mu(s)$. The equation (3.23) after differentiation with respect to s became:

$$\alpha' = \lambda'N_2 + \lambda N_2' + \mu'B + \mu B' \quad (3.24)$$

From the equations (2.2) we find that:

$$\left. \begin{aligned} \lambda' + k_3\mu &= 0 \\ k_1\mu &= 1 \\ k_2\mu &= 0 \\ \mu' - \lambda k_3 &= 0 \end{aligned} \right\} \quad (3.25)$$

So by solving these equations if $k_3 = k_2 = 0$, we find:

$$\mu = \frac{1}{k_1} \text{ and } \lambda(s) = \frac{-k_3}{k_1}s + c$$

Then:

$$\alpha(s) = \left[\frac{-k_3}{k_1}s + c\right]N_2(s) + \left[\frac{1}{k_1}\right]B \quad (3.26)$$

Theorem 3.6: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{N_2, B\}$ if and only if it is in the form

$$\alpha(s) = \left[\frac{-k_3}{k_1}s + c\right]N_2(s) + \left[\frac{1}{k_1}\right]B \quad (3.26)'$$

Case 7: In this case suppose that the Spacelike curve α lies on the subspace spanned by $\{T, N_1, N_2\}$. So we can defined the position vector as:

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_1(s) + \nu(s)N_2(s) \quad (3.27)$$

Where $\lambda = \lambda(s)$, $\mu = \mu(s)$ and $\nu = \nu(s)$. The equation (3.27) after differentiation with respect to s became:

$$\alpha' = \lambda'T + \lambda T' + \mu'N_1 + \mu N_1' + \nu'N_2 + \nu N_2' \quad (3.28)$$

From the equations (2.2) we get the following:

$$\left. \begin{aligned} \lambda' &= 1 \\ \mu' &= 0 \\ \nu' &= 0 \\ \mu k_2 + \lambda k_1 + \nu k_3 &= 0 \end{aligned} \right\} \quad (3.29)$$

If $k_1 = 0$, these equations lead to

$$\lambda = s + c, \mu = c_1, \nu = c_2$$

$$\alpha(s) = [s + c]T(s) + c_1N_1(s) + c_2N_2(s) \quad (3.30)$$

Theorem 3.7: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{T, N_1, N_2\}$ if and only if it is in the form

$$\alpha(s) = [s + c]T(s) + c_1N_1(s) + c_2N_2(s) \quad (3.30)'$$

Case 8: In this case we suppose that the Spacelike curve α lies on the subspace spanned by $\{T, N_1, B\}$. So we can defined the position vector as:

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_1(s) + \nu(s)B(s) \quad (3.31)$$

Where $\lambda = \lambda(s)$, $\mu = \mu(s)$ and $\nu = \nu(s)$. The equation (3.31) after differentiation with respect to s became:

$$\alpha' = \lambda'T + \lambda T' + \mu'N_1 + \mu N_1' + \nu'B + \nu B' \quad (3.32)$$

From the equations (2.2) we get the following:

$$\left. \begin{aligned} \lambda' + \nu k_1 &= 1 \\ \mu' + \nu k_2 &= 0 \\ \nu k_3 &= 0 \\ \lambda k_1 + \mu k_2 + \nu' &= 0 \end{aligned} \right\} \quad (3.33)$$

If $k_1 = 0$ these equations lead to

$$\lambda(s) = -\frac{k_1^2 e^{-2ms}(-1+e^{2ms})(1+e^{2ms})}{4m^3} + \frac{(k_1^2 k_2^2) e^{-ms}(-1+e^{ms})^2(e^{ms}-e^{-ms}-2ms)}{4m^5} + \frac{e^{-ms}(k_1^2 + k_1^2 e^{2ms} + 2k_2^2 e^{ms})(k_1^2 e^{ms} - k_1^2 e^{-ms} + 2mk_2^2 s)}{4m^5} + \frac{c_1 e^{-ms}(k_1^2 + e^{2ms} k_1^2 + 2e^{ms} k_2^2)}{2m^2} + \frac{k_1 k_2 c_2 e^{-ms}(-1+e^{ms})^2}{2m^2} - \frac{k_1 c_3 e^{-ms}(-1+e^{2ms})}{2m} \quad (3.34)$$

$$\mu(s) = -\frac{k_1 k_2 e^{-2ms}(-1+e^{2ms})(1+e^{2ms})}{4m^3} + \frac{e^{-ms} k_1 k_2 (2e^{ms} k_1^2 + k_2^2 + e^{2ms} k_2^2)(e^{ms}-e^{-ms}-2ms)}{4m^5} + \frac{k_1 k_2 e^{-ms}(-1+e^{ms})^2(me^{ms}-me^{-ms}+2k_2^2 s)}{4m^5} + \frac{k_1 k_2 c_1 e^{-ms}(-1+e^{ms})^2}{2m^2} + \frac{c_2 e^{-ms}(2e^{ms} k_1^2 + n^2 + e^{2ms} n^2)}{2m^2} - \frac{k_2 c_3 e^{-ms}(-1+e^{2ms})}{2m} \quad (3.35)$$

$$v(s) = \frac{k_1 e^{-2ms}(1+e^{2ms})^2}{4m^2} - \frac{k_1 k_2^2 e^{-ms}(-1+e^{2ms})(e^{ms}-e^{-ms}-2ms)}{4m^4} - \frac{k_1 e^{-ms}(-1+e^{2ms})(k_1^2 e^{ms} - k_1^2 e^{-ms} + 2mk_2^2 s)}{4m^4} - \frac{k_1 c_1 e^{-ms}(-1+e^{2ms})}{2m} - \frac{k_2 c_2 e^{-ms}(-1+e^{2ms})}{2m} + \frac{c_3}{2} e^{-ms}(1+e^{2ms}) \quad (3.36)$$

$$\text{Where } m = \sqrt{k_1^2 + k_2^2}$$

Theorem 3.8: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{T, N_1, B\}$ if and only if it is in the form

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_1(s) + v(s)B(s) \quad (3.37)$$

Where $\lambda(s)$, $\mu(s)$ and $v(s)$ as an equations (3.34), (3.35) and (3.36) respectively

Case 9: In this case we suppose that the Spacelike curve α lies on the subspace spanned by $\{T, N_2, B\}$. So we can defined the position vector as:

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_2(s) + v(s)B(s) \quad (3.38)$$

Where $\lambda = \lambda(s)$, $\mu = \mu(s)$ and $v = v(s)$. The equation (3.38) after differentiation with respect to s became:

$$\alpha' = \lambda'T + \lambda T' + \mu'N_2 + \mu N_2' + v'B + vB' \quad (3.39)$$

From the equations (2.2) we get the following:

$$\left. \begin{aligned} \lambda' + vk_1 &= 1 \\ \mu' - vk_3 &= 0 \\ vk_2 &= 0 \\ \lambda k_1 + \mu k_3 + v' &= 0 \end{aligned} \right\} \quad (3.40)$$

If $k_2 = 0$ these equations lead to

$$\lambda(s) = \frac{k_1^2 e^{-2ns}(-1+e^{2ns})(1+e^{2ns})}{4n(-n)^2} - \frac{k_3^2 k_1^2 e^{-ns}(-1+e^{ns})^2(e^{ns}-e^{-ns}-2ns)}{4n(-n)^4} - \frac{1}{4(-n)^4} e^{-ns}(-2e^{ns} k_3^2 + k_1^2 + e^{2ns} k_1^2) \left(\frac{e^{-ns} k_1^2}{n} - \frac{e^{ns} k_1^2}{n} + 2k_3^2 s \right) - \frac{c_1 e^{-ns}(-2e^{ns} k_3^2 + k_1^2 + e^{2ns} k_1^2)}{2(-n)^2} - \frac{k_1 k_3 c_2 e^{-k_2 s}(-1+e^{k_2 ns})^2}{2(-n)^2} + \frac{k_1 n c_3 e^{-ns}(-1+e^{2ns})}{2(-n)^2} \quad (3.41)$$

$$\mu(s) = -\frac{k_1 k_3 e^{-2ns}(-1+e^{2ns})(1+e^{2ns})}{4(-n)^2 n} + \frac{k_1 k_3 n e^{-ns}}{4(-n)^4} (k_3^2 + e^{2ns} k_3^2 - 2e^{ns} k_1^2)(e^{ns}-e^{-ns}-2ns) + \frac{k_1 k_3 e^{-ns}(-1+e^{ns})^2(e^{-ns} k_1^2 - e^{-ns} k_1^2 + 2nk_3^2 s)}{4n(-n)^4} + \frac{k_1 k_3 c_1 e^{-ns}(-1+e^{ns})^2}{2(-n)^2} + \frac{c_2 e^{-ns}(k_3^2 + k_3^2 e^{2ns} - 2k_1^2 e^{ns})}{2(-n)^2} - \frac{k_3 n c_3 e^{-ns}(-1+e^{2ns})}{2(-n)^2} \quad (3.42)$$

$$v(s) = \frac{k_1 e^{-2ns}(1+e^{2ns})^2}{4n^2} + \frac{k_3^2 k_1 e^{-ns}}{4(-n)^4} (-1+e^{2ns})(e^{ns} - e^{-ns} - 2ns) + \frac{k_1 e^{-ns}}{4(-n)^4} (-1 + e^{2ns})(k_1^2 e^{-ns} - k_1^2 e^{ns} + 2k_3^2 ns) + \frac{k_1 n c_1 e^{-ns}(-1+e^{2ns})}{2(-n)^2} + \frac{k_3 n c_2 e^{-ns}(-1+e^{2ns})}{2(-n)^2} + \frac{c_3}{2} e^{-ns}(1 + e^{2ns}) \quad (3.43)$$

Then

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_2(s) + v(s)B(s) \quad (3.44)$$

Where $\lambda(s)$, $\mu(s)$ and $v(s)$ as in equations (3.41), (3.42) and (3.43) respectively

Where $n = \sqrt{k_1^2 - k_2^2}$

Theorem 3.9: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{T, N_2, B\}$ if and only if it is in the form (3.44)

Case 10: In this case we suppose that the Spacelike curve α lies on the subspace spanned by $\{N_1, N_2, B\}$. So we can defined the position vector as:

$$\alpha(s) = \lambda(s)N_1(s) + \mu(s)N_2(s) + \nu(s)B(s) \quad (3.45)$$

Where $\lambda = \lambda(s)$, $\mu = \mu(s)$ and $\nu = \nu(s)$. The equation (3.45) after differentiation with respect to s became:

$$\alpha' = \lambda'N_1 + \lambda N_1' + \mu'N_2 + \mu N_2' + \nu'B + \nu B' \quad (3.46)$$

From the equations (2.2) we get the following:

$$\left. \begin{aligned} \lambda' + \nu k_2 &= 0 \\ \mu' + \nu k_3 &= 0 \\ \nu k_1 &= 1 \\ \lambda k_2 + \mu k_3 + \nu' &= 0 \end{aligned} \right\} \quad (3.47)$$

These equations lead to

$$\nu(s) = \frac{1}{k_1} \quad (3.48)$$

$$\lambda(s) = \frac{k_2}{k_1}s + c \quad (3.49)$$

$$\mu = \frac{-k_2}{k_1}s + c_1 \quad (3.50)$$

So

$$\alpha(s) = \left[\frac{k_2}{k_1}s + c \right] N_1(s) + \left[\frac{-k_2}{k_1}s + c_1 \right] N_2(s) + \left[\frac{1}{k_1} \right] B(s) \quad (3.51)$$

Theorem 3.10: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{N_1, N_2, B\}$ if and only if it is in the form

$$\alpha(s) = \left[\frac{k_2}{k_1}s + c \right] N_1(s) + \left[\frac{-k_2}{k_1}s + c_1 \right] N_2(s) + \left[\frac{1}{k_1} \right] B(s) \quad (3.51)'$$

Case 11: In this case we suppose that the Spacelike curve α lies on the subspace spanned by $\{T, N_1, N_2, B\}$. So we can defined the position vector as:

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_1(s) + \nu(s)N_2(s) + \nu(s)B(s) \quad (3.52)$$

Where $\lambda = \lambda(s)$, $\mu = \mu(s)$ and $\nu = \nu(s)$. The equation (3.52) after differentiation with respect to s became:

$$\alpha' = \lambda'T + \lambda T' + \mu'N_1 + \mu N_1' + \nu'N_2 + \nu N_2' + \delta'B + \delta B' \quad (3.53)$$

From the equations (2.2) we get the following:

$$\left. \begin{aligned} \lambda' + \delta k_1 &= 1 \\ \mu' + \delta k_2 &= 0 \\ \nu' + \delta k_3 &= 0 \\ \delta' - \lambda k_1 - \mu k_2 - \nu k_3 &= 0 \end{aligned} \right\} \quad (3.54)$$

These equations lead to

$$\begin{aligned} \lambda &= \frac{k_1^2 e^{-2rs}(-1 + e^{2rs})(1 + e^{2rs})}{4r^3} \\ &+ \frac{1}{4r(-r)^4}(-1 + e^{rs})^2(e^{rs} - e^{-rs} - 2rs)(k_3^2 k_1^2 e^{-rs} + k_1^2 k_2^2 e^{-rs}) + \frac{e^{-rs}}{4r(-r)^4}(2k_3^2 e^{rs} \\ &+ k_1^2 + e^{2rs} k_1^2 + 2k_2^2 e^{rs})(k_1^2 e^{rs} - k_1^2 e^{-rs} + 2rk_3^2 s + 2rk_2^2 s) + \frac{c_1 e^{-rs}}{2(-r)^2}(2e^{rs} k_3^2 + k_1^2 + e^{2rs} k_1^2 + 2e^{rs} k_2^2) \\ &+ \frac{(-1 + e^{rs})^2(k_3 k_1 c_2 e^{-rs} + k_1 k_2 c_3 e^{-rs})}{2(-r)^2} - \frac{k_1 c_4 e^{-rs}(-1 + e^{2rs})}{2r} \end{aligned} \quad (3.55)$$

$$\begin{aligned} \mu &= \frac{k_1 k_2 e^{-2rs}(-1 + e^{2rs})(1 + e^{2rs})}{4r^3} \\ &+ \frac{k_3^2 k_1 k_2 e^{-rs}}{4r(-r)^4}(-1 + e^{rs})^2(e^{rs} - e^{-rs} - 2rs) + \frac{k_1 k_2 e^{-rs}}{4(-r)^4}(2k_3^2 e^{rs} + 2k_1^2 e^{rs} \\ &+ k_2^2 + e^{2rs} k_2^2)(-\frac{e^{-rs}}{r} + \frac{e^{rs}}{r} - 2s) + \frac{k_1 k_2 e^{-rs}}{4(-r)^4}(-1 + e^{rs})^2(-\frac{e^{-rs} k_1^2}{r} \\ &+ \frac{e^{rs} k_1^2}{r} + 2k_3^2 s + 2k_2^2 s) + \frac{k_1 k_2 c_1 e^{-rs}(-1 + e^{rs})^2}{2(-r)^2} \\ &+ \frac{k_3 k_2 c_2 e^{-rs}(-1 + e^{rs})^2}{2(-r)^2} + \frac{c_3 e^{-rs}}{2(-r)^2}(2e^{rs} k_3^2 + 2e^{rs} k_1^2 + k_2^2 \\ &+ e^{2rs} k_2^2) - \frac{k_2 c_4 e^{-rs}(-1 + e^{2rs})}{2r} \end{aligned} \quad (3.56)$$

$$v = \frac{k_3 k_1 e^{-2rs} (-1 + e^{2rs}) (1 + e^{2rs})}{4r^3} + \frac{k_3 k_1 k_2^2 e^{-rs}}{4r(-r)^4} (-1 + e^{rs})^2 (e^{rs} - e^{-rs} - 2rs) + \frac{k_3 k_1 e^{-rs}}{4r(-r)^4} (k_3^2 + k_3^2 e^{2rs} + 2k_1^2 e^{rs} + 2k_2^2 e^{rs}) (e^{rs} - e^{-rs} - 2rs) + \frac{k_3 k_1 e^{-rs}}{4r(-r)^4} (-1 + e^{rs})^2 (k_1^2 e^{rs} - k_1^2 e^{-rs} + 2rk_3^2 s + 2rk_2^2 s) + \frac{k_3 k_1 c_1 e^{-rs} (-1 + e^{rs})^2}{2(-r)^2} + \frac{c_2 e^{-rs}}{2(-r)^2} (k_3^2 + e^{2rs} k_3^2 + 2e^{rs} k_1^2 + 2e^{rs} k_2^2) + \frac{k_3 k_2 c_3 e^{-rs} (-1 + e^{rs})^2}{2(-r)^2} - \frac{k_3 c_4 e^{-rs} (-1 + e^{2rs})}{2r} \quad (3.57)$$

$$\delta(s) = -\frac{k_1 e^{-2rs} (1 + e^{2rs})^2}{4(r)^2} + \frac{(-1 + e^{2rs}) (e^{rs} - e^{-rs} - 2rs) (k_3^2 k_1 e^{-rs} + k_1 k_2^2 e^{-rs})}{4r^2 (-r)^2} + \frac{k_1 e^{-rs} (-1 + e^{2rs}) (e^{rs} k_1^2 - e^{-rs} k_1^2 + 2rk_3^2 s + 2rk_2^2 s)}{4r^2 (-r)^2} + \frac{(-1 + e^{2rs}) (k_1 c_1 e^{-rs} + k_3 c_2 e^{-rs} + k_2 c_3 e^{-rs})}{2r} + \frac{c_4 e^{-rs}}{2} (1 + e^{2rs}) \quad (3.58)$$

So

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_1(s) + \nu(s)N_2(s) + \nu(s)B(s) \quad (3.59)$$

Where $\lambda(s), \mu(s)$ and $\nu(s)$ as in equations (3.56), (3.57) and (3.58) respectively

And $r = \sqrt{-(k_1^2 + k_2^2 + k_3^2)}$

Theorem 3.4: Suppose that $\alpha \subset E_1^4$ be Spacelike curve lies on the subspace spanned by $\{T, N_1, N_2, B\}$ if and only if it is in the form

$$\alpha(s) = \lambda(s)T(s) + \mu(s)N_1(s) + \nu(s)N_2(s) + \nu(s)B(s) \quad (3.59)'$$

Where $\lambda(s), \mu(s)$ and $\nu(s)$ as in equations (3.55), (3.56), (3.57) and (3.58) respectively

References

- [1] A.T. Ali, " POSITION VECTORS OF GENERAL HELICES IN EUCLIDEAN 3-SPACE", Bulletin of Mathematical Analysis and Applications Volume 3 Issue 2(2011), Pages 198-205.
- [2] Dr. Fathi El-Zaki, " The Position Vectors of Space Curves with constant Curvatures According to Type-1 Bishop Frame in Euclidean 3- Space E^3 " International Journal of Innovative Research in Science, Engineering and Technology Vol. 5, Issue 5, May 2016.
- [3] H. Kocayigit, Ali Ö, M. Ç. Sevde Ö. A, " Characterizations of Timelike Curves according to the Bishop Darboux Vector in Minkowski 3-Space E_1^3 , International Mathematical Forum, Vol. 8, (2013), No.19, 903 – 911.
- [4] Kazım İ, Emilija N, " Some Characterizations of Rectifying Curves in the Euclidean Space E^4 ", Turk J Math, 32 (2008) , 21 – 30.
- [5] Kazım İ, Emilija N, " Some characterizations of null osculating curves in the Minkowski space-time", Proceedings of the Estonian Academy of Sciences, 2012, 61, 1, 1–8.

- [6] Kazim Ilarslan and others, " SOME CHARACTERIZATIONS OF RECTIFYING CURVES IN THE MINKOWSKI 3-SPACE", Novi Sad J. Math. Vol. 33, No. 2, 2003, 23–32
- [7] M. A. Akgun, A. I. Sivridag, " Some Characterizations of a Spacelike Curve in R^4 ", Pure Mathematical Sciences, Vol. 4, 2015, no. 1, 43 – 55.
- [8] Suha Y and Yasin U, " A NOTE ON SPACELIKE CURVES ACCORDING TO TYPE-2 BISHOP FRAME IN MINKOWSKI 3-SPACE E_1^3 ", International Journal of Pure and Applied Mathematics, Volume 103 No. 2 2015, 321-332.
- [9] Mehmet ÖNDER, Hüseyin KOCAY G T, Mustafa KAZAZ, " SPACELIKE HELICES IN MINKOWSKI 4-SPACE", Annali Dell'UNIVERSITA' DI Ferrara, November (2010), Volume 56, Issue 2, 335–343.